Practice Problems - Lecture 9b

Problem 1. Solve each rational inequality and write each answer in interval notation:
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Problem 2. Solve each absolute value inequality and write each answer in interval no-
tation:

(a) |3z — 4] < 2;

b) 5|z + 1| > 10;

c) |7—3x| <4

d) | -5z 47 —4 < —6;
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(e) [12 — 9| > —12.

Problem 3. Write the following statements using absolute value notation:
(a) z is no less than 5 units from 4;

(b) k is within 0.0002 unit of 10;

(¢) q is no more than 8 units from 22.



Answers:

5

1. (a) (—o0,—1) U (4,00); (b) (—00,2) U [5,00); (c) (—2, _§]

2. (a) (5:2): 0) (o0, -3 U 1,00) () |15 |5 @ 0 0) (00,0,

3. (a) |z — 4| > 5: (b) |k — 10| < 0.0002; (c) |q — 22| < 8.



